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Section A
For Qmﬁons 1 to 30, choose the most surlable answer and shade its number in
the OAS prov:ded

1. The snail curls into its shell quickly when' ouched

This shows that the snail is a living thing because it _

(1) canmove

(2) canreproduce

(3) can respond to changes

{4) needs air, water and food to survive

2. Study the flow chart below.

Organisms

A
Does it breathe no
through its lungs?

| _yes
- Does it have hair no Q
as outer covering?

yes

Doesitgivebithto |
its young? -

vy___Yes

Which letter would best represent a “dog™?

(1) P
2 Q
3 R
4 S



3. Some aquatic plants were kept in two sealed glass jars as shown below.

Set-up P is exposed fo light. Set-up Q is kept in the dark.

wooden box

- At the end of two weeks, only the plants in set-up P were alive. What does the
results of this experiment show?

(1) Plants need light to survive.
" (2) Plants need pebbles to survive.
(3) Piants need water to survive.
. (4) Plants need air to survive.

4. .ln which part(s) of the human digestive system is/are digestive juices added?

A: stomach

B: small intestine
C: large intestine
D: anus

(1) Aonly

(2) B and C only
(3) Aand B only
(4) C and D only



5.  Study the diagram shown. It shows the human respiratory system.

V4

Which of the following statements about the system is not true?

(1) X has fine hairs inside that trap dust in the air that we breathe in.
(2) Y is the main tube that carries air between part X and part Z.

(3) Z has many blood vessels that take in carbon dioxide into the body.
(4) X allows gases to be removed when we breathe out.



6. The table below gives some information on four plants, P, Q, Rand S.
A tick (V) indicates the presence of the characteristic of the plant.

Plant P Q R S
Characteristic
It has seeds. ¥ ¥
It has spores. y N
It takes in dissolved oxygen. v v
Plants
T
A 4
flowering non-flowering
l
4 A 4 l v
land plant water plant land plant water plant
| ] 1 i
A B c D

Based on the information above, which of the foliowing shows the correct

classification of the plants?

Piant P Plant Q PlantR Plant S
)] A B C D
(2) B C A D
3) C B D A
4) D A C B




7. Jasmine set up the experiment as shown below. Both set-ups A and B were placed
in a lighted room for a week. The water in set-up A and the plants in set-ups A and
B were changed daily. She observed that one grasshopper died after a week.

What is the aim of this experiment?
Her aim is o find out whether the presence of

(1) water affect the survival of the plants

(2) water affect the survival of the grasshopper
(3) oxygen affect the survival of the plants

(4) oxygen affect the survival of the grasshopper

8. Kai Ming studied three cells, A, B and C, under a microscope ahd recorded his
- observations in the table below.

Cells
Cell Part A B C
Nucleus present -present present
Cell wall preéent | absent present
Chioroplast present absent -absent
Cell membrane present preseni ‘ present

Based on the information above, which of the following is correct?

A B C
(1 cheek cell leaf cell onion cell
(2) leaf cell cheek cell onion cell
3) onion cell leaf cell cheek cell
(4) cheek cell onion cell leaf cell




9. A group of people discovered an island and named it Jurassiz. They collected
data on the number and position of plants found on it. They recorded this data in
the map below.

Wind direction. —>

X

Legend
Plants:

QXL

The same group of people then retumed one year later and discovered that more

plants were found growing on the island as shown below.

 Wind direction: —>

Which of the following best represents the-method of seed dispersal of the three

types of plants?
X Y o3
e} wind animal water
(2) . water splitting open forcefully __animal
&) animal wind splitting open forcefully
(4) | splitting open forcefully water wind




10.  Study the table below.

1.

Description of characteristics

attached earlobes

ability to roll fongue

natural straight hair

O O m >

short fingemails

Which of the characteristics can be passed on from parents to their children?

(1) A and D only
(2) B and C only
(3)A, B and C only
{4) B, C and D only

Study the flow chart below.
Life Cycles
1
2l |
3-stage life cycle 4-stage life cycle
] R
{ i [ 1
lay eggs lay eggs lay eggs lay eggs
on land in water on land in water
| | ! |
A B C D

Which one of the following represents animals, A, B, C and D?

(1)
2)
(3)

)

A B C D
chicken mosquito butterfly frog
frog chicken mosquito butterfly
chicken frog butterfly mosquito
- frog mosquito chicken butterfly




12.

Brenda was given four set-ups, A, B, C and D, with similar plants placed in
identical containers as shown below. She wanted to conduct an experiment to find
out if the roots of a plant take in water. There was 500 ml of water in each
container. The set-ups were located on a table in a garden.

Set-up A Set-up B Set-up C Set-up D

She measured the amount of watet left in the containers to conclude her experiment.
Which two set-ups should she use in her experiment to ensure a fair test?
()Aand B

(2)Band C
(3)Band D

4)CandD



13. Some students participated in the activity shown during the recent School
Camival Day.

Which human systems stated below are needed to perform these activities?

A: Muscular system

B: Skeletal system

C: Respiratory system
D: Circulatory system

(1) Aand B only

- (2) C and D only
(3) A, C and D only
(4)A,B,CandD

14. Clarice wanted to find out whether the positicn of bulbs would affect the
brightness of the bulbs. She used new batteries, bulbs and wires in her
experiment. The length of the wire used in circuits X and Y is the same. She
set up two circuits, X and Y, as shown in the circuit diagrams below.

Il llim

®

-®

Circuit X CircuitY
What would be the conclusion for her experiment?

(1) The brightness of the bulbs in X and Y is the same.
(2) The brightness of bulbs in X is dimmer than thatin Y.
(3) The brightness of bulbs in Y is dimmer than that in X.
(4) The bulbs in X remain unlit but the bulbs in Y lit up.



15.  Jahida set up a circuit below. Three bulbs lighted up when she closed the swiich.
She was told that one of the objects in the circuit was an insulator of electricity.

& s




16. Nicole drew the anangeirlent of bulbs in diagram 1. She wanted a circuit such that
there would be one coloured bulb fighted up at any point in time by closing only one

switch each time.

® green orange ®

Diagram 1

Her father said that the arrangement of her light bulbs would not work according
to what she wanted. Then, Nicole changed the circuit diagram so that it would

work correctly.
- Which of the following best matches the correct circuit arrangement?

o ——lFes— @ f-o—

green red ®

\Y orange ' green orange red

Q—o o— ——@%—@J&

Tt

%)green %orange%) e () green ®orange Qe
%y e




Ben used a circuit tester to test a circuit card.

— ||l
A D Wire X l ‘
. e
® ® WireY
B C <
Circuit card ‘ Circuit tester

The table below shows what happened to the bulb when each pair of clips, A, B, C,
and D were tested.

Clips tested ' Bulb in circuit tester
Aand B unlit
Aand C it
Cand D lit
Band C unlit
Aand D lit

Which one of the following represents the correct circuit card?

(1) (2)
A D , A D
® *————o
I——-c ————o
B c B C

&) 4
A D A D
\I ®
® : e
B ¢ B c




18. Xiao Ling sealed two identical glass bottles, W and X. Then, she left them on
the table in the Science room. After some time, she noticed that water
draplets were formed-on the bottles as shown below.

Bottie W Bottle X

Based on the diagrams above, what type of water could bottles W and X

contain? ,

; Bottie W |  Bottle X
(1) | ice-cold water hot water
(2) hot water ice-cold water
(3) hot water tap water
(4) | ice-cold water tap water




19.

20.

The diagrams below show matter X in a container. The container is placed in
three different positions on a table in the classroom.

matter X

Based on the diagrams above, what could the state of matter for X most
likely be?

(1) solid ~
(2) liquid

(3) gas

(4) solid and liquid

The students lighted some candles on a birthday cake.

A: flame
— B: melting wax
C: wax

They made some observations about the candies and wrote their thoughts down
into their journals.

Peter: The light at part A can be seen and occupies space. -
May Leen: The melting wax at part B occupies space.

Bernard: The flame occupies space and there is heat given out.
Cathy: The wax at part C has no mass.

Which of the following students made the correct observation about matter?

(1) Peter

(2) May Leen
(3) Bernard
(4) Cathy



21. Lily attended a water conservation seminar. She summarised what she had

learnt in the chart below.

(1)
)
@)

Water Conservation Methods
A B C
Wash dishes in Add chemicals to Wash the toilet with
a basin of clean remove impurities ' water used
water instead of to make dirty water previously for
a running tap. clean for cooling rinsing clothes.
machinery.
Which of the following best represents headings for A, B and C?
A B ¢
Reuse Reduce Recycle
Recycle Reduce Reuse
Reuse Recycle Reduce
Reduce Recycle Reuse

@




22.

Zann set Up an experiment as shown below.

[\

et s m e oo R e e R R R

- - -
BT P e e e e - . ——
. — -

R

Container C Containér D Container E Container F

The same amount of water was poured into each of the containers. All the
containers were placed in the Science room under similar conditions for two
days. :

Which of the following best represents the amount of water left in the
containers after the experiment?

Least > Most
(1) C F E D
(2) C F D E
3) E D F C
4 F D E C




23. The diagram shows the view of a road. There is a mirror Jocated at the bend of
the road. Car A and car B are travelling towards the bend in the direction
shown by the arrows.

_— CarA

L =a-

Which of the following propetrties of light enables the driver of car Ato see car
B before car B reaches the bend of the road?

A: Light travels in a straight line. .
B: Light can be reflected by a mirror.
C: When light is blocked, a shadow is formed.

(1) Bonly

(2) Aand B only
(3) Aand C only
(4) Band C only



24.

25.

<o -

Jamal took out some ice cubes from the freezer and left them on a plastic plate in
the kitchen as shown. The temperature of the kitchen was 30°C.

plastic plate

Which one of the statements below shows the heat changes that took place in
the ice cubes after they were taken out from the freezer and left on the plate?

(1) The ice cubes gained heat from the surroundings.

(2) The ice cubes lost heat to the plastic plate.

(3) The air in the surroundings gained heat from the ice cubes.
(4) The plastic plate gained heat from the ice cubes.

A group of students set up an emeﬁment'below‘ Sheets A, B, C, Dand E are
made of different materials. They have the same thickness and size. A heart-
shaped cut-out was made on sheet A. :

A patch of light was observed on sheet D when the torch was switched on.

Which of the observations shown in the table below is correct?

It allows most lightto | Itdoes notallow | Itis not possible
pass through. light to pass to tell.
through.
M B,C D E
(2) B,D C E
3) B,D E C
(4) B,C . E D




26. Study the interactions of magnets below.

<
« »

% A

C B

The two magnets repelled each other when they were brought towards each
other. What are the poles of A, B and C?

A B C .

(1) | North-seeking pole | South-seeking pole | North-seeking pole
(2) | North-seeking pole | South-seeking pole | South-seeking pole
(3) | South-seeking pole | North-seeking pole | South-seeking pole
(4) | South-seeking pole | North-seeking pole | North-seeking pole |

27. Lynn pulls a spring that is aitached to a ceiling as shown below.

Which direction will the spring move towards when Lynr‘l‘pulls it downwards?

(N A
@ B
@3) C
@) D



28.

Miffy carried out an experiment o test the magnetic strength of an iron nail when
given a certain number of strokes. She used the North-seeking pole of the magnet
to stroke the iron nail in the same direction. She recorded the number of paper
clips the nail could attract and plotted a graph.

magnet

T i, —a—

Which one of the graphs best represents the relationship between the number of
strokes made and the number of paper clips the nail could attract?

(1) | @
Number Number
of pape_r’ of paper
clips clips
attracted attracted
Number of strokes Number of strokes
3) 4)
F' 3 A
Number Number
of paper of paper
clips clips
attracted attracted

Number of strokes Number of strokes



29. The diagram shows Jimmy playing table tennis with his cousin, Aden. When
the ball came towards Jimmy, he swung his arm forward and used the bat to
hit the ball.

Based on the above scenario, which of the following statements are correct?

A: Aden exerted a pull on the table tennis ball.

B: Jimmy exerted a push on the table tennis ball.

C: Jimmy exerted a force to change the direction of the table tennis ball.

D: Jimmy exerted.a force but could not change the direction of the table .
tennis ball. ’

(1) Aand B only
(2) B and D only
(3) Aand C only
(4) B and C only



30. The diagram below shows a toy ball that is “floating” in the air between two
parts. Henson rotates the ball by turning it with his finger. This toy ball works
by making use of magnets.

Legend:
|~ toy ball magnet
@ magnet

@ magnet

Mm|@]|e|®

£
'szl

B
=9
g
=]
=

2,
Ed
=]
=]
Ed

End of Section A

Please check your answers.
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SECTIONB : '
Answer all the questions in the spaces provided.

31. The chart below shows how some;animals, C, D, E, and F, can be classified based

on their characteristics.
Animals
! L
Less than 3 body 3 body parts More than 3 body
parts parts
8legs I 6 legs | l
4 legs in each 2 legs in each
l I segment segment
c - LB [ |
E F

(a) Based on the chart above, list the characteristics of C. (1m)

(b) Based on the classification chart above, where should you classify the animal
shown below? (1m)

it should be classified in

23 | | 2




Kelvin wanted to investigate the effect of pollutant Y on the survival of water
plant W using the materials provided below.

The materials that he used:
e 10 similar plant W
o 2 identical beakers,Sand T
+ 10 drops of pollutant Y
« 1 container containing 1000ml of water

(c) Complete the table to show how Kelvin should carry out his experiment.
Wirite the numbers (2 to 5) in the boxes provided in the table. The first step has

been done.(1m)

Step Procedure
1 Pour 500 mi of wéter into each beaker, Sand T.
Place both beakers in a sunny field for a week.
Observe and count the number of plant(s) W that remained
alive after one week.
Put 5 water plant W into each beaker, Sand T.
Add 10 drops of poliutant Y-into beaker S.

- (d) Based on the answer in part (c), Kelvin’s teacher told him that one of the
beakers is a control set-up. Which beaker, S or T, is a control set-up? (1m)

24



32. Bryan wanted to investigate how the temperature affected the rate of
photosynthesis of plant Z. He used four similar set-ups as shown below. The water
in each set-up was maintained at different temperatures throughout the
experiment. The set-ups were exposed to similar light sources for two hours.

inverted funnel

AN

Sy

AP

oil

Vors

Bryan measured the amount of oxygen collected in the test tube of each set-up
after two hours. Next, he used his data and plotted the following graph.

, Temperature
, of water
’ > (°C)
25 30 35 40

(a) What is the effect of temperature on the rate of photosynthesis of plant Z7 (1m)

Amount of 'y

oxygen
collected (cm’®)

(b) Bryan observed that the level of water in the test tube decreased after two hours.
Why is this so? (1m) ' '

25



33.

(@)

Raja set 'up an experiment as shown below. He placed animal X inside container A
and used a delivery tube to connect it to container B filled with limewater as shown
below. '

delivery tube \ E prsvp—

v animal X

limewater \

Raja observed that the fimewater tumed chalky after two-hours. Explain why. (1m)

. -



The diagram below shows the direction of blood flow in some parts of the human
body. T

/ lungs Key:
Al —> direction in which
blood flows

all other
parts of
the body

(b} Compare the amount of oxygen in the blood at A and B. Explain your answer. (2m)

27




34. The diagram below shows a land plant.

" soil”

Study the three celis, S, T and R, carefully.

N ge— TN
o
\——/ J
Cell S Cell T CellR

(a) State one similarity in cell parts among the celis, S, T and R. Do not mention size
or shape.(1m)

(b) Which cells, S, T or R, can be found in parts A and B of the plant respectively?
(1m) o .

(i) Part A : Cell

(i) Part B : Cell

() Explain which plant process that cell S can perform but celi T cannot. (1m)

T




35. Look at the diagram below.

Fruit

Flower Z
(@)  Identify part X and part Y. (1m)
Part X:

PartY:

Look ai the two fru:ts A and B, shown}be!ow‘

one seed
seeds

Fruit A Fruit B

(b) " Which frult is most likely to be the fruit of Flower Z?
Explain your answer. (2m)

29




36.  Study the family tree of Joash’s family members.

Legend:
Male
F l Q Female
Joash

Family member Natural hair colour
Paternal grandfather brown
Paternal grandmother brown
Father black
Mother 3 - brown
ansh black
Joash’s brother brown

(a) How many children do Joash’s grandparents have? (1m)

(b) From whom did Joash inherit his black hair? Explain your answer. (1m)

(c) In the family tree above, shade the symbol that represents Joash’s mother. (1m)

30




37. Sally set up two different electrical circuits, A and B, using identical light bulbs and
batteries. Each circuit had two batteries. She measured the brightness of the light
bulbs as she added more light bulbs to each circuit.

Based on the readings recorded, Sally plotted the graphs as shown below to
compare the brightness of the bulbs in the two circuits.

Brightnessof | Circuit A

the bulbs (lux)
Circuit B
+—— >
1 2 3 Number of light bulbs

(@) Identify the type of arrangement of bulbs for circuit A and B respectively. (1m)

Circuit A:

Circuit B:

(b) Name one advantage for the arrangement of bulbs in circuit A. Explain why? (1m)

31



38.  The didgram below shows a typical terrarium where plants are enclosed in a
container made of clear glass. It is sealed with a glass lid. The terrarium is
placed in the classroom. After sometime, some water droplets were observed in
the container as shown.

glass container

’- ; 7/ -
NG st
v/’ pebbles

(@  Explain how the water droplets were formed. (2m)

(b) " Between a closed cupboard and tﬁé'living room balcony, where should one p[ace
the terrarium to ensure that the plants in it will grow healthily? Explain your
answer. (1m) » C

{c) ‘How does the glass lid help to maintain the amount of water in the terrarium? (1m)

32




39. At 1pm, Ray hung some wet towels on a bamboo pole and put it out to dryas

shown in diagram 1 below.
‘ Diagram 1

Weather Conditions:
No rainfall
No wind

bamboo pole

Ten minutes later, Ray’s grandmother took the bamboo pole in and spread the
towels out as shown in diagram 2. Then, she put the bamboo pole out again. She

said that this would allow the towels to dry in a shorter time.
Weather Conditions:

No wind

bamboo pole

(@) Explain why the change made by Ray’s grandmother helped the towels to dry in a
shorter time. (1m)

(b) Given the same weather conditions as statéd, hanging the towels out to dry in the
day allows them to dry in a shorter time as compared to at night. Why is this so?
(1m) '

(c) Besides the change made by Ray’s grandmother and your answer in part (b),
name one other factor which allows the towels to dry in a shorter time. (1m)

33



40. Look at the following diagrams. Gae!an wanted to make strawberry flavoured ice
cubes.

strawberry
flavoured 14—
water

ey

He poured the strawbenry flavoured water into the ice cube tray. The tray was left
in the freezer for one day.

_(a) Identify the state of matter for the following.(1m)

(i) strawberry flavoured water in the glass:

(i) strawberry flavoured water in the ice
cube tray after five hours :

In another separate experiment, Géelan inverted 2 similar glass cups, A and B,
vertically into a basin of water at the same time as shown. He observed that water

filled up cup A totally but not cup B.

CupA CupB | air

$—— basin

S

(’o) Suggest what oould be drﬁ‘erent about Cup A that caused the water level to
be different as compared t6:Cup B. (1m)

{c) Explain why less water entered cup B. (1m)




41.  The diagrams show 3 objects of the same height of 10 ¢cm and width of 3 cm. They
are placed in front of a screen. They are a pernitil, a container and a ruler made of
wood. A light source was switched on and the shadows of the objects were cast on

the screen.
. e e e S DT T TR S
E 10 cm
3cm 3cm ' 3cm
container ruler pencil

RERRRK

-
-
- -
- -
. - -
-
- — -
" -
-
-

-—

-

-
-
-
-
—————
-
-
——
ey
- -

-

(@)  Tick, (V), the correct set of shadows cast on the screen by the three objects. (1m)

JYMYY |

(b)  How does the distance of an object from the light source affect the length of its
shadow? (1m)

35



42. Jerald had three contairters made of three different materials, X, Y and Z.
He recorded the temperature of the water in the three containers after water at 80°C
was poured into them and tabulated the results in the table bélow.

Material X Material Y Material Z
Temperature of water in the cup 70 30 40
after 30 minutes (°C)

_ Next, he designed a cup sleeve as illustrated below for a cup. Jerald was able to
hold the cup of hot coffee for a longer time with the cup sleeve.

LR

cup

cup sleeve

(a) Among the three materials, X, Y or Z, which is the best choice for making the cup
sleeve? Explain your choice. (2m)

(b)  Jerald made a cup of hot coffee at 70°C_and left it on a table in the living room.
Then, he used a thermometer to measure the change in the temperature of the
coffee over a period of three hours. He drew a graph as shown below.

. 'fempera{ufé of
. coffee (°C)

41 4 3> Number of hours

The temperature of the room was 30°C. Jerald found that the temperature of the
coffee was also 30°C after three hours. Why was it so? (1m)

N A



43. Study the diagram carefully. Nadia gave the soccer ball a hard kick at part R as
shown. The ball moved towards part S and landed at part T.

(a) Identify one force which acted on the ball at part S. (1m)

Nadia conducted an expen'ﬁ:ent in the Science room. She pushed two similar soccer
balls across a glass surface and a sandpaper surface with the same amount of force.
The distance moved by each ball was recorded in the table shown.

i  surface A

surface B
Distance moved by the soccer ball (cm)
1ty 2" try Average
Surface A 30 32 31
Surface B 15 17 16

(b)  Which surface, A or B, was the glass surface? Explain why. (1m)

37 , 2




44. Sulin saw a toy at a shop. This toy moved up and down continuously with a push
as shown below. it did not require any battery for it to move. The toy beetles and
the identical parts labelled A were not in contact at all times.

When she tried to push the toy beetle down towards part A, she could feel a force
pushing it upwards. Her mother pointed out that there were two forces acting on
the toy to make it move.

(a) Name one force that acted on the toy beetle to allow it to move continuously. (1m)

(b) Explain why, in terms of forces, the toy could move continuously after Sulin gave it
a push. (2m)

End of Section B
Please check your answers.
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LEVEL : PRIMARYS
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Q1 Q2 (Q3 Q4 Q5 {Q6 |Q7 [Q8 Q% {Q10
3 4 1 3 | 3 3 | 2 2 | 4 | 3
Q11 Q12 [Q13 |Q14 {Q15 |Ql6 |Q17 |Q18 |Qi9 |Q20
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Q21 [Q22 |Q23 Q24 [Q25 |Q26 [Q27 [Q28 |Q29 Q30
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Q31a. Chasless than 3 body parts and has 8 legs. Q31b.D

Q31c.SEEPICTURE  Q31d. Beaker T.

Step Procedure
1 Pour 500 mi of water into each beaker Sand T.
1y ‘Place both beakers in a spnny field fora week.
Dbserve and count the number of plant(s) W that remained
5 | alive after one week.
2
2

Put5 water plant W lnto each beaker SandT.
l Add 10~drops of pollutant Y. mto beaker S.

Q32a. The higher the temperature, the higher the rate of photosynthesis of plant 2.
Q32b. The roots of plant Z absorbed the water in the test tube for ‘photosynethesis.
Q33a. Limewater turns chalky when carbon dioxide touches it. Animal X breathed out

carbon dioxide and the carbon dioxide went through the dehvery tube, thus tummg the
limewater chalky.

Q33b. A has more oxygen than B. The amount of oxygen in the blood at A has not been
used yet but the amount of oxygen at B was less than A as the body has used up most of
the oxygen so the amount of oxygen at A is more than B.

(J34a. Each of them hasa nucleus.
Q34b.i) CellS Q34bii)Cell T

Q34c. Cell S can photosynthesize but cell T cannot.



Q35a. Part X: ovule Q35b. PartY: Petal

Q35b. Fruit A. There are more than one ovule in flower Z and fruit A has more than one
seed.

. Q§6a 3 Q36b. Joash's father. His father has black father so Joash inherited his black
‘hair from his father. ‘

Q36c. SEE PICTURE

200 8
/ ; VLL]

—
Joash

Q37a. Circuit A : parallel Circuit B: series
Q37b. If one bulb fuses, the other will still light up. There is another closed circuit so

electricity can still flow through the circuit.

(38a. The water in the wet soil gained heat and evaporated into water vapor. The
~ warm water vapor then came into contact with the cooler surface of the glass container
- and condensed into water droplets.

Q38b. Living room balcony. The plants need light to photosynethesize to make food so
if it is in a closed cupboard, the plant will starve.

Q38c. It prevents water vapor from escaping.
Q39a. There was more exposed surface area so the towels would dry in a shorter time.

- - Q39b..The temperature was higher in the day than at night so the towel will dry quicker
in the day.

Q39C. No model answer.
Q40ai) Liquid Q40aii) solid
Q40b. There was a hole in cup A.

Q40c. The air in cup B occupies space so less water can enter cup B.



Q41a. SEE PICTURE
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Q41b. The nearer the distance of an object from the light source, the longer the length
of the shadow.

Q42a. Material X. Material X is the poorest conductor of heat so it would take the
Jongest time to conduct heat. '

Q42b. The coffee lost heat to the surroundings and stopped when it reached room
temperature.

Q43a. Gravitational forge

Q43b.:Surface A. Glass is a smooth surface so there will be less friction bwtween the
soccer ball and surface.

Q44a. Magnetic force.

Q44b. There was a magnetic force of repulsion acting on the toy beetle.

THE END







